

### Weierstrass' proof of the Lindemann-Weierstrass theorem (Part 3 of 3)

As stated by Weierstrass, the Lindemann-Weierstrass Theorem is as follows: if each of  $z_1, \dots, z_n$  is algebraic and distinct, and  $N_1, \dots, N_n$  are algebraic, then

$$N_1 e^{z_1} + \dots + N_n e^{z_n}$$

cannot be zero unless all of  $N_1, \dots, N_n$  are zero.

In the final part of his 1885 paper, Weierstrass proved the theorem first for  $N_1, \dots, N_n$  integers, then for the general case.

I. First we prove the special case where  $N_1, \dots, N_n$  are integers.  $z_1, \dots, z_n$  are roots of a single integral polynomial, all of whose roots are distinct and which has a positive leading coefficient that we call A (Lemma 1). Let  $r$  be the degree of this polynomial. We denote its additional roots as  $z_{n+1}, \dots, z_r$ .

We begin with the assumption

$$N_1 e^{z_1} + \dots + N_n e^{z_n} = 0 \tag{1}$$

where not all of  $N_1, \dots, N_n$  are zero, and show this leads to a contradiction. Let

$$P = \prod_{i=1}^{r!} \pi_i (N_1 e^{z_1} + \dots + N_r e^{z_i}) \tag{2}$$

Here  $N_{n+1}, \dots, N_r = 0$  and  $\pi$  runs through all permutations of the symbols  $N_1, \dots, N_n$ . If we take  $\pi_1$  to be the identity permutation then the first term in the product is

$$N_1 e^{z_1} + \dots + N_r e^{z_i} = N_1 e^{z_1} + \dots + N_n e^{z_n} = 0$$

so our starting assumption implies that

$$P = 0 \tag{3}$$

We expand the product (2) in the manner suggested by the following array:

$N_1$	$N_2$	.....	$N_r$	
$N_1^{(2)}$	$N_2^{(2)}$	.....	$N_r^{(2)}$	
.....	.....	.....	.....	.....
$N_1^{(r!)}$	$N_2^{(r!)}$	.....	$N_r^{(r!)}$	
$z_1$	$z_2$	.....	$z_r$	

(4)

in which each row, except for the last, is a distinct permutation of  $N_1, \dots, N_r$ . Thus

$$P = \sum N_1' N_2' \dots N_r' e^{z_1' + z_2' + \dots + z_r'} \tag{5}$$

where in forming a general term in the sum we have taken an element  $N_j'$  from each row  $j$  of (4) except the last, and included in the exponent the value  $z_j'$  taken from the same column as  $N_j'$ . We note that the value of  $P$  is not altered by altering the order of the columns.

There are  $r!$  terms in the sum thus formed, although not all the exponents are necessarily algebraically, or numerically, distinct. If we collect terms with the same numeric exponent, we have

$$P = \sum_{\lambda=0}^s C_\lambda e^{\zeta_\lambda} \tag{6}$$

where  $s + 1$  is the number of numerically distinct exponents and



degree not greater than  $s$  in  $\zeta$ , and with integer coefficients, such that (i) each of the differences

$$g_v(\zeta_0)e^{\zeta_0} - g_v(\zeta_\lambda)e^{\zeta_\lambda}$$

(where  $v, \lambda$  can take any of the values  $0, 1, \dots, s$ ) can be made arbitrarily small in absolute value, and (ii) the determinant whose elements are  $g_v(\zeta_\lambda)$  is non-zero.

From part (i) we obtain

$$e^{-\zeta_0} g_v(\zeta_0) C_\lambda e^{\zeta_\lambda} = C_\lambda g_v(\zeta_\lambda) + \epsilon_v C_\lambda e^{-\zeta_0} \quad (v = 0, \dots, s)$$

where the  $\epsilon$  are expressions that can be made as small as we wish in absolute value. Thus

$$e^{-\zeta_0} g_v(\zeta_0) \sum_{\lambda=0}^s C_\lambda e^{\zeta_\lambda} = \sum_{\lambda=0}^s C_\lambda g_v(\zeta_\lambda) + \epsilon_v e^{-\zeta_0} \sum_{\lambda=0}^s C_\lambda \quad (v = 0, \dots, s) \dots\dots\dots (9)$$

The sum on the left hand side of this expression is by (6) and (3) equal to zero for all  $v$ .

Now the expressions

$$\sum_{\lambda=0}^s C_\lambda g_v(\zeta_\lambda)$$

can be regarded as the product of a matrix and a vector thus:

$$\begin{bmatrix} g_0(\zeta_0) & \dots & g_0(\zeta_s) \\ \dots & \dots & \dots \\ g_s(\zeta_0) & \dots & g_s(\zeta_s) \end{bmatrix} \begin{bmatrix} C_0 \\ \dots \\ C_s \end{bmatrix}$$

Since the determinant of the matrix is non-zero by part (ii) of the Lemma, and at least one of the  $C_\lambda$  is non-zero, the resulting vector has at least one non-zero element. Thus for at least one  $v$ , the sum on the right hand side of (9) is non-zero.

We can expand the sum as follows:

$$\sum_{\lambda=0}^s C_\lambda g_v(\zeta_\lambda) = \sum N_1' N_2' \dots N_{r_1}' g_v(z_1' + z_2' + \dots + z_{r_1}') = \sum_{i=1}^w N_1' N_2' \dots N_{r_1}' g_v(\xi_i)$$

We show that this is a symmetric function of  $z_1, \dots, z_r$ . It suffices to show that the transposition of any  $z_i$  and  $z_j$  leaves the sum

$$\sum N_1' N_2' \dots N_{r_1}' (z_1' + z_2' + \dots + z_{r_1}')^m = \sum_{i=1}^w N_1' N_2' \dots N_{r_1}' (\xi_i)^m$$

unchanged, where  $m$  is a positive integer. Terms in the sum that contain neither  $z_i$  nor  $z_j$  are unchanged by the transposition. We refer to the remaining terms as comprising the set  $S$ . The sum is unchanged by the transposition if the transposition maps  $S$  onto itself.  $S$  must map to itself, since terms containing only  $x_i$  are mapped to terms containing only  $x_j$  and vice-versa, and terms containing both are mapped to terms containing both. The mapping is onto because every term created by the transposition has a unique precursor in  $S$ .

The polynomials  $g$  have degree  $s$  or less, so since the  $\xi$  have degree 1 in the  $z$ , if the leading coefficient of  $g_v$  is  $a_0$  then by the Corollary quoted above

$$a_0^s \sum_{\lambda=0}^s C_\lambda g_v(\zeta_\lambda)$$

is an integer (and we have already shown it is non-zero). By taking

$$|\epsilon_v| < a_0^{-s} e^{-\zeta_0} \sum_{\lambda=0}^s C_\lambda$$

we have generated the desired contradiction since if (9) is multiplied by  $a_0^s$  the left hand side is zero but the right hand side is non-zero.

II. Now suppose the  $N_1, \dots, N_n$  in (1) are any algebraic numbers whatsoever so long as they are not all zero. As in part I we assume this expression is zero and show this leads to a contradiction.

By Lemma 2 the  $N_k$  may all be expressed as

$$N_k = G_k(\eta)$$

where the  $G_k$  are integral polynomials and  $\eta$  is algebraic. We assume that the  $G_k$  are the integral polynomials of least degree such that  $N_k$  can be expressed in this form. We let  $\eta^{(2)}, \dots, \eta^{(r)}$  be the other roots of the polynomial of least degree of which  $\eta$  is a root and we denote as  $A$  the leading coefficient of this polynomial. (We can make the polynomial unique as described in Lemma 1 of Part 2). If  $\eta^{(k)}$  is any given root, then  $G_j(\eta^{(k)})$  is zero only if  $\eta$  is zero (Lemma 3). Thus at least one of the  $G_j(\eta^{(k)})$  is non-zero.

We form the product:

$$P' = \prod_{k=1}^r G_1(\eta^{(k)})e^{z_1} + \dots + G_n(\eta^{(k)})e^{z_n} \dots \dots \dots (10)$$

By hypothesis  $P' = 0$ .

We expand the product in the manner suggested by the following array:

$G_1(\eta^{(1)})$	$G_2(\eta^{(1)})$	.....	$G_n(\eta^{(1)})$	
$G_1(\eta^{(2)})$	$G_2(\eta^{(2)})$	.....	$G_n(\eta^{(2)})$	
.....	.....	.....	.....	..... (11)
$G_1(\eta^{(r)})$	$G_2(\eta^{(r)})$	.....	$G_n(\eta^{(r)})$	
$z_1$	$z_2$	.....	$z_r$	

The value of  $P'$  is not changed by altering the order of the first  $r$  rows because this operation simply alters the order of the factors in (10). It is not changed by altering the order of the columns since this simply changes the order of the terms in the sum following the product sign in (10). Thus

$$P' = \sum^{n^r \text{ terms}} G'_1(\eta^{(1)})G'_2(\eta^{(2)}) \dots G'_n(\eta^{(r)})e^{z'_1 + \dots + z'_n} = \sum \phi(\eta^{(1)}, \dots, \eta^{(r)})e^{\xi_k} \dots \dots (12)$$

where we denote as  $\xi_1, \dots, \xi_w$  the set of functions  $v_1z_1 + \dots + v_nz_n$  where for the moment the  $z_k$  are regarded as variables, the  $v$  are non-negative integers and  $v_1 + \dots + v_n = n$ .

The coefficients of the  $e^\xi$  are symmetric functions of the  $\eta^{(k)}$  because if we interchange rows  $i$  and  $j$ ,  $\xi$  does not change and the terms that sum to the coefficient of  $e^\xi$  are simply changed in order, although the operation has interchanged  $\eta^{(i)}$  and  $\eta^{(j)}$ .

Suppose the  $G_k$  of largest degree has degree  $d$ . Then the coefficients of the  $e^\xi$  have degree at most  $nd$  and so if we multiply  $P'$  by  $A^{nd}$  we obtain an expression in which the coefficients of the  $e^\xi$  are all integers. This can be seen by substituting  $\eta$  for  $z$  in Corollary 2 quoted in I above.

Now if, as in Part I, we give the  $z_k$  their numerical values and denote the numerically distinct  $\xi$  as  $\zeta$  we obtain from (12)

$$A^{\text{nd}} P' = \sum_{\lambda=0}^s C_{\lambda} e^{\xi_{\lambda}}$$

where the  $C_{\lambda}$  are integers. Because each of the rows in (11) has at least one non-zero element, and because  $P'$  is not altered by changing the order of the columns in (11), we can show in the same manner as in I that the  $C_{\lambda}$  are not all zero and hence that  $P'$  is not zero.

Lemma 1: If  $z_1, \dots, z_n$  are distinct algebraic numbers then they are roots of a single integral polynomial, all of whose roots are distinct.

Proof: If  $z_1, \dots, z_n$  are roots of integral polynomials  $P_1(z), \dots, P_n(z)$  then they are the roots of the single integral polynomial  $P_1(z) \dots P_n(z)$ . If this is the case, then by Lemma 1 of Part 2, they are the roots of an integral polynomial with distinct roots.

Lemma 2: if  $z_1, \dots, z_n$  are algebraic, they can be expressed as  $z_1 = G_1(\eta), \dots, z_n = G_n(\eta)$  where the  $G$  are polynomials with integer coefficients and  $\eta$  is algebraic.

Proof: the Lemma is a special case of a general theorem in abstract algebra which states that if  $F$  is some field and  $\alpha, \beta, \dots$  are finite in number and algebraic over  $F$  (that is, are roots of a polynomial whose coefficients are in  $F$ ) then if  $F(\alpha, \beta, \dots)$  is the field formed by adjoining  $\alpha, \beta, \dots$  to  $F$ ,  $F(\alpha, \beta, \dots)$  is a simple extension of  $F$  (it can be formed by adjoining to  $F$  a single element  $\eta$  that is algebraic over  $F$ ). In the case of the Lemma, the field  $F$  is the rational numbers. A straightforward proof can be found in Stewart and Tall "Algebraic Number Theory and Fermat's Last Theorem", Third Edition, as Theorem 2.2

Lemma 3: Let  $\eta$  be the root of an integral polynomial and let  $\eta'$  another root of the integral polynomial of least degree, uniquely defined as in Lemma 1 of Part 2, of which  $\eta$  is a root. Let  $G(z)$  be an integral polynomial. Then if  $G(\eta) = 0, G(\eta') = 0$ .

Proof: the Lemma follows by applying to  $G(z)$  the process described in Lemma 1 of Part 2. If  $G$  does not have a factor  $(z - \eta')$ , then nor does the polynomial of least degree of which  $\eta$  is a root.